Prognostic value of a hypoxia-related microRNA signature in patients with colorectal cancer

Yongmei Yang^{1,2}, Ailin Qu^{1,2}, Qi Wu⁴, Xin Zhang^{1,2}, Lili Wang^{1,2}, Chen Li³, Zhaogang Dong^{1,2}, Lutao Du³, Chuanxin Wang³

¹Department of Clinical Laboratory, Qilu Hospital, Shandong University, Jinan 250012, Shandong Province, China ²Key Laboratory of Tumor Marker Translational Medicine, Shandong Provincial Medicine and Health, Jinan 250012, Shandong Province, China

³Department of Clinical Laboratory, The Second Hospital of Shandong University, Jinan 250033, Shandong Province, China

⁴Department of Blood Transfusion, Qilu Hospital, Shandong University, Jinan 250012, Shandong Province, China

 Correspondence to: Chuanxin Wang; email: cxwang@sdu.edu.cn

 Keywords: colorectal cancer, hypoxia microRNA signature, prognosis, prediction, nomogram

 Received: May 13, 2019
 Accepted: October 21, 2019
 Published: January 11, 2020

Copyright: Yang et al. This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY 3.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.

ABSTRACT

Hypoxia has been particularly associated with poor prognosis in cancer patients. Recent studies have suggested that hypoxia-related miRNAs play a critical role in various cancers, including colorectal cancer (CRC). In the present study, we found 52 differentially expressed miRNAs in HT-29 cells under hypoxic conditions versus normoxic conditions by analyzing the profiles of miRNAs. Using Cox model, we developed a hypoxia-related miRNA signature consisting of four miRNAs, which could successfully discriminate high-risk patients in the Cancer Genome Atlas (TCGA) training cohort (n=381). The prognostic value of this signature was further confirmed in the TCGA testing cohort (n=190) and an independent validation cohort composed of formalin-fixed paraffin-embedded clinical CRC samples (n=220), respectively. Multivariable Cox regression and stratified survival analysis revealed this signature was an independent prognostic factor for CRC patients. Time-dependent receiver operating characteristic (ROC) analysis showed that the area under the curve (AUC) of this signature was significantly larger than that of any other clinical risk factors or single miRNA alone. A nomogram was constructed for clinical use, which incorporated both the miRNA signature and clinical risk factors and performed well in the calibration plots. Collectively, this novel hypoxia-related miRNA signature was an independent prognostic factor for group of the prognostic factor, and it possessed a stronger predictive power in identifying high-risk CRC patients than currently used clinicopathological features.

INTRODUCTION

Colorectal cancer (CRC) is one of the most frequently diagnosed malignancies worldwide with substantial mortality [1]. The high mortality in CRC is largely attributed to its late detection and high recurrence rate, and the 5-year survival rate of CRC patients is highly dependent on the cancer stage at diagnosis. Accurate assessment of a patient's prognosis is crucially important for treatment planning, as well as clear and effective communication between physicians and their patients. However, the most commonly used approach for predicting patient survival remains pathological staging according to the tumor-node-metastasis (TNM) classification system, and it provides only limited information for the clinical prognostication because even patients within the same stage exhibit huge variation in prognosis and treatment response [2– 3]. Therefore, it is urgently necessary to develop robust prognostic biomarkers that can offer a superior prognostic clinical usefulness compared with traditional risk factors. Hypoxia is a micro-environmental hallmark of poorprognosis in most solid tumors. The hypoxic microenvironment plays a major role in controlling the phenotype and behavior of cancer cells, whereby oxygen is limited, and thus cancer cells improve their own genetic index for adaptation and survival under hypoxic stress [4]. Hypoxic tumors become more aggressive. invasive and resistant to chemo- and radiation- therapy. Therefore, tumor hypoxia and hypoxia-inducible factors (HIFs), its main mediators, are supposed to be therapeutic targets [5-7]. MicroRNAs (miRNAs) are small noncoding RNAs with regulatory functions, which play critical roles in human cancers. Previous studies have established the link between aberrant miRNA expression and hypoxia in various neoplasms [8-11]. In CRC, the cooperation between hypoxia and miRNAs can promote tumor progression through different mechanisms, leading to poor prognosis [12–17]. Our group has previously reported that the hypoxia-inducible miR-210 is an independent prognostic factor and contributes to metastasis in CRC [18]. These findings suggest that the hypoxia-induced dysregulation of miRNAs in cancer has potential prognostic implications. We hypothesized that a characteristic miRNA expression pattern was induced in regions with sustained and intermittent hypoxia in CRC, and the extent of hypoxic miRNA expression determined the aggressiveness, or in general, the prognosis. However, to date, there is no comprehensive analysis of prognostic biomarkers based on hypoxia-related miRNA expression profiles in CRC patients.

Previous studies have shown that the combination of a panel of multiple indicators, rather than just a single factor, will yield more powerful and accurate information in the clinical setting [4, 19–21]. In the present study, we conducted a systematic analysis and developed a novel hypoxia-related miRNA signature predict to individualized survival for CRC patients. We initially cultivated CRC cell lines under hypoxic conditions and screened hypoxia-related miRNAs by high-throughput sequencing (HTS). Next, we identified survival biomarkers using these miRNAs in The Cancer Genome Atlas (TCGA) database. Finally, the clinically relevant prognostic miRNA biomarkers were validated and incorporated into the prognostic nomogram for CRC patients.

RESULTS

Clinical characteristics of the enrolled participants

Table 1 showed the baseline clinical and pathological characteristics, which were similar among the training, internal testing and independent validation cohorts (all P>0.05).

Identification of hypoxia-induced miRNAs from CRC cell sequencing data

Our study was conducted in four stages as follows: discovery stage, training stage, testing stage and validation stage. A flowchart of the procedures was presented in Figure 1. To identify hypoxia-induced miRNAs, we cultured CRC cells (HT-29) under normoxic and hypoxic conditions for 48 h, and then performed HTS on these cells to identify the miRNAs with significantly altered expression. The expression of a miRNA was considered altered only if at least 50 counts were detected by HTS, together with fold change > 1.5 in its expression level between the hypoxic cells and normal ones. Based on these criteria, we found 52 differentially expressed miRNAs under hypoxic conditions (Supplementary Table 1). Moreover, they were therefore considered to be candidate hypoxiainduced miRNAs and subjected to subsequent analysis.

Identification of the prognostic miRNAs from the training cohort

To single out the hypoxia-related prognostic miRNAs, 52 hypoxia-induced miRNAs were initially subjected to univariable Cox proportional hazards regression analysis in the training cohort. Among the 52 miRNAs, eight candidates with top statistical significance (Pvalue ≤ 0.1) were subsequently entered into a step multivariable Cox regression analysis (Supplementary Table 2). As a result, we trained a hypoxia-related prognostic signature consisting of four miRNAs (miR-375, miR-197, miR-26a and miR-210, Supplementary Table 3). Of these four miRNAs, miR-197, miR-210 and miR-26a with positive coefficient were risk factors owing to the close association between their high expression and poor survival of patients, whereas miR-375 was a protective factor. Supplementary Figure 1 listed the KEGG pathway analysis for these four miRNAs.

Construction of a miRNA prognostic risk model and its predictability assessment in the training cohort

By using the regression coefficients of multivariable Cox regression model to weight the expression level of each miRNA in the hypoxia-related prognostic signature, we developed a risk score formula to predict the OS of CRC patients as follows: Risk score = (0.2113*miR-210) + (0.4688*miR-26a) + (0.4337*miR-197) + (-0.2266*miR-375). According to this formula, the risk score was calculated for each patient in the training cohort. Therefore, patients were dichotomized into high-risk group (n = 59) and low-risk group (n = 322) according to the optimum cutoff value generated by X-tile plots (Supplementary Figure 2). We ranked the risk scores of

		Training	Cohort		Test	Cohort		Validation	Cohort		P *
		Total	High risk	Low risk	Total	High risk	Low risk	Total	High risk	Low risk	
Gender											0.081
	Female	184	25 (42.4%)	159 (49.4%)	80	11 (35.5%)	69 (43.4%)	117	15 (45.5%)	102 (54.5%)	
	Male	197	34 (57.6%)	163 (50.6%)	110	20 (64.5%)	90 (56.6%)	103	18 (54.5%)	85 (45.5%)	
Age ^a											0.943
	≥61	213	40 (67.8%)	173 (53.7%)	104	16 (51.6%)	88 (55.3%)	124	22 (66.7%)	102 (54.5%)	
	<61	168	19 (32.2%)	149 (46.3%)	86	15 (48.4%)	71 (44.7%)	96	11 (33.3%)	85 (45.5%)	
Tumor location											0.262
	Colon	276	40 (67.8%)	236 (73.3%)	142	18 (58.1%)	124 (78%)	149	18 (54.5%)	131 (70.1%)	
	Rectum	105	19 (32.2%)	86 (26.7%)	48	13 (41.9%)	35 (22.0%)	71	15 (45.5%)	56 (29.9%)	
Lymph node examined											0.101
count	12 or more	334	51 (89.5%)	283 (94.6%)	183	29 (93.5%)	154 (98.7%)	199	31 (93.9%)	168 (96%)	
	Less than 12	22	6 (10.5%)	16 (5.4%)	4	2 (6.5%)	2 (1.3%)	9	2 (6.1%)	7 (4.0%)	
CEA											0.697
	Abnormal	90	12 (38.7%)	78 (36.8%)	46	11 (50%)	35 (33%)	60	11 (50%)	49 (38.9%)	
	Normal	153	19 (61.3%)	134 (63.2%)	82	11 (50.0%)	71 (67.0%)	88	11 (50.0%)	77 (61.1%)	
stage											0.212
	Stage I	74	4 (7.1%)	70 (22.2%)	25	1 (3.4%)	24 (15.8%)	36	1 (3.1%)	35 (19.3%)	
	Stage II	138	19 (33.9%)	119 (37.8%)	63	12 (41.4%)	51 (33.6%)	90	23 (71.9%)	67 (37.0%)	
	Stage III	101	20 (35.7%)	81 (25.7%)	67	14 (48.3%)	53 (34.9%)	52	6 (18.8%)	46 (25.4%)	
	Stage IV	58	13 (23.2%)	45 (14.3%)	26	2 (6.9%)	24 (15.8%)	35	2 (6.2%)	33 (18.2%)	

Table 1. Baseline clinical and pathological characteristics in our study.

P*: the difference between the training cohort, test cohort and validation cohort was examined using Pearson's Chi-squared test.

^a the average age was 61.

patients in the training cohort and analyzed their distributions in Figure 2A. The survival status of CRC patients was marked on the dot plot (Figure 2B). The results indicated that patients with higher risk scores generally had poorer OS than those with lower risk scores. The heatmap showed the expression pattern of prognostic miRNAs between the high-risk group and low-risk group (Figure 2C). For high-risk patients, three risk miRNAs (miR-197, miR-210 and miR-26a) were increased, and the protective miR-375 was decreased. On the contrary, these miRNAs displayed the opposite expression patterns in low-risk patients. Kaplan-Meier survival analysis (Figure 2D) demonstrated that high-risk patients had shorter OS than low-risk patients (log-rank test, P<0.001). We also assessed the prognostic ability of

the miRNA signature using time-dependent ROC analysis at different time points. The results showed that the area under the ROC curve (AUC) for the fourmiRNA prognostic model was 0.711 (95% CI: 0.630-0.791) at 3 years and 0.737 (95% CI: 0.627-0.845) at 5 years (Figure 2E). In the univariable Cox regression model of OS, the risk of death of high-risk group was increased by 4.241-fold compared with the low-risk group (95% CI:2.649-6.791, P < 0.001).

Validation of the miRNA signature for OS prediction in the testing cohort

To examine the robustness of the four-miRNA signature, the prognostic value of the signature was









further tested using a testing cohort and an entire TCGA patient cohort. We used the same risk score formula obtained from the training cohort and computed the risk score for all patients in the testing cohort. Then the patients were classified into high-risk group and low-risk group using the same cutoff value obtained from the training cohort. We did the same survival analysis as in the training cohort. In line with the findings of training cohort, high-risk patients had shorter OS than low-risk patients in the testing cohort (Figure 3A, log-rank test, P=0.042). Time-dependent ROC analysis indicated that the AUC for the miRNA signature was 0.568 (95% CI: 0.500-0.635) at 3 years and 0.657 (95% CI: 0.518-0.797) at 5 years (Figure 3B), respectively. Risk score-based classification of the entire TCGA cohort also yielded similar results (log-rank test, P <0.001; AUC at 3 year: 0.658, 95% CI: 0.595-0.722; AUC at 5 year: 0.713, 95% CI: 0.629-0.797; Figure 3C and 3D).



Figure 3. Kaplan-Meier survival analysis and time-dependent ROC curves of the miRNA signature in the testing cohort, entire TCGA cohort and independent validation cohort. (A, B) Internal testing cohort. (C, D) Entire TCGA cohort. (E, F) Independent validation cohort. We used AUCs at 3 and 5 years to assess prognostic accuracy, and calculated P values using the log-rank test.

Variables	Univariable analysis			Multivariable analysis		
v al lables	HR	95% CI	<i>P</i> -value	HR	95% CI	<i>P</i> -value
Gender						
Male vs female	1.125	0.832-1.520	0.444			
Age						
Older vs. younger	2.126	1.520-2.973	0.000	3.204	1.910-5.374	0.000
Tumor location						
rectum vs. colon)	0.899	0.632-1.279	0.555			
MiRNA signature						
High vs low	3.007	2.188-4.133	0.000	2.806	1.724-4.566	0.000
Lymph node examined count						
12 or more vs. less than 12	0.747	0.423-1.321	0.316			
Preoperative CEA						
Abnormal vs. normal	2.379	1.558-3.630	0.000	2.166	1.392-3.371	0.001
Stage group						
Late group vs. early group	1.743	1.275-2.383	0.000	1.944	1.233-3.065	0.004

Table 2. Univariate and multivariate Cox proportional hazards analysis of factors associated with OS in all 791 patients.

Revalidation of the four-miRNA signature for survival prediction by an independent validation cohort

To evaluate the translational potential of our miRNA signature in identifying high-risk patients, we deliberately examined its performance in FFPE tissues (independent validation cohort, n=220), which are routinely available in the clinical settings. Patients were classified into high-risk and low-risk groups according to their risk scores of the miRNA signature. Similarly, more patients with dead status fell into the high-risk group, in which the OS was shorter than that in the low-risk group (log-rank test, P < 0.001, Figure 3E). Furthermore, the miRNA signature achieved an AUC of 0.688 (95% CI: 0.598-0.778) and 0.686 (95% CI: 0.539-0.833) at 3 and 5 years, respectively (Figure 3F).

Prognostic value of the miRNA signature

To investigate whether the prognostic value of miRNA signature was independent of other clinicopathological variables, the univariable and multivariable Cox regression analyses were initially performed in the entire cohort consisting of 791 patients (combination of the training, testing and validation cohorts). We found that the risk score of the miRNA signature was significantly associated with the OS of patients even after adjustment by other clinical factors (Table 2). We also observed that patient's age, preoperative CEA level and clinical stages were significant prognostic factors in

CRC patients (all P < 0.05). Therefore, data stratification analysis was introduced to determine the independence of our miRNA signature according to age, preoperative CEA level and clinical stages. Figure 4 illustrated that the survival curves of high-risk group situated below those of low-risk group in all subgroups. Log-rank tests showed that our miRNA signature was still a clinically and statistically significant prognostic factor in all subgroups, except for younger patients. In the subgroup of younger patients, our miRNA signature was a marginally significant prognostic factor (P=0.088).

We also performed ROC analysis to compare the predictive ability of the miRNA signature with other features. Figure 5 showed that the four-miRNA risk score model possessed a stronger predictive power than other clinical risk factors (age, preoperative CEA level and clinical stages), or single miRNA alone (all P < 0.05). When the risk score was combined with clinicopathological risk factors, significant difference was found between the combined model and the risk score (P < 0.05). The results further confirmed the reliable predictive ability of our miRNA signature.

Construction of a nomogram based on the miRNA signature

We constructed a nomogram to provide a quantitative method for clinicians to predict individual probability of survival, in which the miRNA signature was integrated with clinicopathological independent risk factors for



Figure 4. Kaplan-Meier survival analysis according to the four-miRNA signature stratified by clinicopathological risk factors in all **791 CRC patients.** (A, B) TNM stage. (C, D) age. (E, F) preoperative CEA level. We calculated P values using the log-rank test.

survival (including age, tumor stage and preoperative CEA level) in CRC patients (Figure 6A). The biascorrected lines of both 3 and 5 years in the calibration plot were very close to the ideal curve (the 45-degree line), indicating good agreements between prediction and observation (Figure 6B). The predictive accuracy of the nomogram was calculated through survival ROC analysis. The AUCs of nomogram at 3 and 5 years were 0.763 (95% CI: 0.704-0.822) and 0.752 (95% CI: 0.678-0.827), respectively, suggesting the favorable discrimination performance (Figure 6C).

DISCUSSION

CRC is associated with a high morbidity and mortality rate. It is urgently necessary to identify new prognostic indicators in order to more accurately predict prognosis of patients in the era of precision medicine. In the present study, we firstly screened differentially expressed miRNAs related to hypoxia by miRNA sequencing. Then, we employed a large cohort of CRC patients from TCGA training cohort and trained a hypoxic signature of miRNAs (miR-197, miR-26a, miR-210 and miR-375) for predicting OS in CRC patients, followed by validation of its clinical value in the testing cohort. Finally, the clinical significance of this signature was reconfirmed by using an independent validation cohort from our hospital, with superior prognostic and predictive value compared with clinical risk factors.

Hypoxia is a major contributor to the failure of conventional cancer therapies in the tumor microenvironment. However, it is seldom considered in





clinical settings, in part, due to the lack of good endogenous hypoxia markers [22]. The over-expression of HIF has been proved to be closely associated with prognosis, while HIF itself is not actually considered to be a hypoxia marker exclusively because it can be activated in various ways, including oncogene drive [23]. Therefore, we attempted to circumvent this limitation by developing a hypoxia-related miRNA signature for predicting prognosis in CRC patients.

MiRNAs are promising cancer biomarkers, which have great potential to be used in personalized medicine, and may be regulated by hypoxia in multiple human tumors. Several miRNAs are hypoxia sensors and thus termed hypoxia-responsive miRNAs or hypoxamiRs [8, 24– 25]. In the current study, we initially found that 52 miRNAs were consistently differentially expressed in CRC cells cultured under the hypoxic conditions compared with normoxic conditions. Furthermore, we, for the first time, demonstrated a correlation between the altered expressions of four miRNAs under hypoxic conditions in vitro with those of tumors in TCGA datasets with available clinical data. To the best of our knowledge, this study was the first attempt ever made to comprehensively analyze the prognostic biomarkers based on hypoxic miRNA expression profiles in cancer patients.

Among the identified miRNAs, miR-197, miR-26a and miR-210 were risk factors, whereas miR-375 was a protective factor. Both high levels of risk factors and low levels of the protective factor were associated with



Figure 6. The nomogram to predict probability of OS for CRC patients in all 791 patients. (A) The nomogram for predicting proportion of patients with OS. (B) The calibration plots of the nomogram for the probability of OS at 3 and 5 years. (C) Time-dependent ROC based on the nomogram for survival probability. Nomogram-predicted probability of survival is plotted on the x-axis, and observed survival probability is plotted on the y-axis.

a poor prognosis in CRC patients. We presumed that the four hypoxia-inducible miRNAs played critical roles in cancer progression and were prognostic indicators in CRC. Functional enrichment analysis of the KEGG signaling pathway showed the top 20 pathways involved, such as the MAPK signaling pathway, indicating these miRNAs served a critical role in the initiation and progression of CRC. Consistently, miR-26a has been proposed as an oncomir in the progression and invasion of CRC [26], which has also been shown to be up-regulated by hypoxia in glioblastoma multiforme, one of the most hypoxic tumors of the central nervous system [27]. Moreover, miR-210, the master hypoxamiR, generally exhibits oncogenic properties in most human solid tumors, including CRC [28]. However, miR-197-3p, another risk factor identified in this study, has been found to exhibit both oncogenic and tumor suppressive functions in different cancer types [29-30], and its hypoxia-regulated property was firstly reported here. MiR-375, the protective factor determined here, can inhibit autophagy and reduce viability of hepatocellular carcinoma cells under hypoxic conditions as previously reported [31]. These findings, together with our data, suggested the potential application of the four hypoxia- and survival-associated miRNAs as prognostic biomarkers in CRC patients. Meanwhile, more comprehensive and detailed studies are still required to assess the exact contribution of these miRNAs under hypoxic conditions in CRC.

In the current study, the combined index of the four miRNAs exhibited a significant association with prognosis in CRC patients. Multivariable analysis revealed that the four-miRNA signature predicted prognosis of CRC independently of traditional clinical risk factors. Further stratification analysis showed that this signature could reliably discriminate patients at high-risk from those at low-risk within all subgroups. Time-independent ROC analysis showed that it was superior to conventional TNM staging in predicting outcome of CRC patients. To improve the ability of prognostic prediction, we combined the four-miRNA signature with clinicopathological risk factors. The results indicated that there was a significant difference between the combined model and the miRNA signature. Similarly, a hypoxia-driven gene score has previously been developed, showing independent prognostic value in stage II and III colon cancer [32]. In this research, the hypoxia-related miRNA signature was firstly developed and successfully validated to predict prognosis of CRC patients.

Additionally, an ideal classifier for cancer prognostic prediction should be not only robust but also potentially feasible in available, archival samples. It has been reported that miRNAs are sufficiently stable in FFPE tissues, overcoming the barriers of sample collection and storage [33]. Therefore, this approach using FFPE specimens might be readily translated into clinical practice.

Nomograms are useful for the visualization of statistical models, graphical assessment of variable importance and the calculation of predicted values [34-35]. They have been widely used in predicting cancer risk, metastasis and therapeutic outcomes [19, 36-38]. Although nomograms are getting increasingly popular, few studies have created prognostic models using combinations of multiple miRNA biomarkers and clinical risk factors. Most recently, our group has successfully built a prognostic nomogram that integrates both a miRNA-based signature and clinical-related variables in gastric cancer [20]. In this study, based on the combination of the four-miRNA signature and independent clinicopathological variables, we established a nomogram model that could provide an individual prediction of prognosis in CRC patients. The calibration plot showed that the nomogram performed well, indicating good agreements between prediction and observation. The AUCs of nomogram at 3 and 5 years were 0.763 and 0.752, respectively, suggesting the favorable discrimination performance. Therefore, our nomogram might be a useful tool for patient counseling and personalized management for CRC patients.

Collectively, we demonstrated that the miRNA expression pattern of CRC cells under hypoxic conditions was significantly correlated with clinical parameters of CRC patients. Furthermore, a hypoxiarelated miRNA signature was developed and proved to be an independent prognostic biomarker for prognosis prediction in CRC patients, which was superior to a model using only clinical risk factors. Moreover, this approach should be validated in large-scale multi-center clinical trials.

MATERIALS AND METHODS

Ethical statement

All human-related procedures were in accordance with the ethical standards of the Clinical Research Ethics Committee of Qilu Hospital, Shandong University and the Declaration of Helsinki. Written informed contents were obtained from all participants.

Patients and clinical database

This study included patients from the publicly accessible dataset from TCGA and a clinical validation cohort of Qilu Hospital, Shandong University. In TCGA dataset, the miRNA sequencing data (containing expression data of 1,881 noted miRNAs) and corresponding clinicopathological information of CRC patients were downloaded from website (https://portal.gdc.cancer.gov). Patients with missing survival data and follow-up time less than 30 days were excluded. Consequently, a total 571 CRC patients were enrolled in the present study, which were randomly divided into a training cohort (n = 381, 2/3) and a testing cohort (n = 190, 1/3). In the clinical validation cohort, a total of 220 formalin-fixed paraffin-embedded (FFPE) specimens were collected from CRC patients who were treated in the Oilu Hospital, Shandong University (Jinan, China) between September 2007 and December 2012, according to the following criteria: (a) patients who underwent surgery with curative intent; (b) relevant clinical characteristics and follow-up data were available; (c) patients didn't received preoperative therapy (radiotherapy, chemotherapy or chemoradiotherapy); and (d) patients didn't simultaneously suffer from other tumor diseases. All samples were evaluated by two pathologists according to the 7th edition of the American Joint Committee on Cancer TNM grading system. Relevant clinical information was collected from medical records.

Cell culture and miRNA sequencing analysis

Human colorectal cell line HT-29 was purchased from the Type Culture Collection of the Chinese Academy of Sciences (Shanghai, China), and cells were maintained in DMEM supplemented with 10% fetal bovine serum (Gibco, Carlsbad, CA, USA) in a humidified incubator (5% CO₂ at 37°C). HT-29 cells were initially cultured with 20% O₂ for 24 h. After cells reached 60% confluence, cells were either placed under hypoxic conditions (2% O₂, 5% CO₂ at 37°C) or remained under normoxic conditions (20% O₂) for another 48 h.

Total RNA was extracted from cells using Trizol reagent Carlsbad, CA) according (Invitrogen, to the manufacturer's instructions. Purity and integrity of RNA quantified kajaoK5500® were using both Spectrophotometer (Kaiao, Beijing, China) and Agilent 2100 RNA Nano 6000 Assay Kit (Agilent Technologies, CA, USA). Total RNA was separated by 15% agarose gels to extract the small RNAs (18-30 nt). After precipitated by ethanol and centrifugal enrichment of small RNA sample, the library was prepared according to the method and process of Small RNA Sample Preparation Kit (Illumina, RS-200-0048). The qualified libraries were then sequenced on an Illumina Hiseq 2500 platform (Illumina, USA), and 50-bp single-end reads were generated.

To ensure the quality of data used in further analysis, the raw data were filtered out with Python scripts according the following criteria: (a) reads without 3' adapter were removed; (b) reads without insert fragment were removed; (c) reads with too much poly A/T were removed; (d) reads with length out of certain range were removed; (e) the low-quality reads were removed; (f) the reads containing N base more than 5% for total bases were removed. The clean data were mapped to the reference genome by Bowtiel.0.1. Subsequently, mapping reads were matched to miRBase ((Release 21) to identify miRNAs. The quantitation of miRNA expression levels was used by count and RPM (reads per million total reads). Differential miRNA expression analysis was carried out using DEGseq. The entire procedure was performed in Annoroad Gene Technology Corporation (Beijing, China).

RT-qPCR analysis of miRNA expression

Total RNA was extracted from 10-µm-thick FFPE specimens using the miRNA Isolation Kits (Bioteke, Beijing, China). All the manipulations of the RNA were carried out under RNase-free conditions, and cDNA was synthesized using miRNA-specific Bugle-Loop primers (Ribobio, Guangzhou, China) and the M-MLV RT kit according to the manufacturer's instructions (Invitrogen, Carlsbad, CA, USA). miRNA expression was assessed by qRT-PCR using ABI PRISM 7500 Sequence Detection System (Applied Biosystems, Foster City, CA). The relative expressions of miRNAs were determined using the 2^{-ddCT} method with the U6 small nuclear RNA (U6) as the housekeeping gene. The normalized values were further log2 transformed. All the primers for miRNAs used in this study were synthesized by Ribobio.

Study procedures

Our study was conducted in four stages as follows: discovery stage, training stage, testing stage and validation stage. A flowchart of the procedures was presented in Figure 1. In the discovery stage, HT-29 cells cultivated under normoxic and hypoxic conditions were subjected to miRNA sequencing to identify the miRNAs with significantly altered expression. In the training stage, the candidate hypoxia-induced miRNAs were initially subjected to univariable Cox proportional hazard regression analysis to examine the association between miRNA expression and overall survival (OS) in the training cohort. The miRNAs with top statistical significance (P-value < 0.1) were subsequently entered into a step multivariable Cox regression analysis with the Akaike information criterion (AIC) employed as the stopping rule to train a hypoxia-induced miRNA signature. An individual's risk score model for each patient was built to predict prognosis of CRC patients using selected miRNA expression, weighted by the

multivariable Cox regression coefficients as follows: Risks core = \sum_i coefficient (miRNA_i) × expression (miRNA_i). Using the optimum cut-off value obtained from X-tile plots (X-tile, version 3.6.1; Yale University School of Medicine, New Haven, CT, USA) in the training cohort, CRC patients could be sorted into highrisk group and low-risk group. The Kaplan-Meier method was used to draw survival curves of both highrisk group and low-risk group, which were compared by log-rank tests. The time-dependent receiver operating characteristic (ROC) curve were used to assess the prognostic performance of miRNA-based signature. In the testing stage, the same risk score formula obtained from the training cohort was used to compute the risk score for all patients in the testing cohort. Then the patients were classified into high-risk group and lowrisk group using the same cutoff value obtained from the training cohort. The same survival analysis (Kaplan-Meier curve and time-dependent ROC curve) was performed in the training stage to examine the prognostic value of the miRNA signature in the testing cohort. In the validation stage, the performance of the miRNA signature in the independent validation cohort was determined, which consisted of 220 FFPE tissues from CRC patients.

Statistical analysis

All the statistical analyses were performed with R software (version 3.4.2; http://www.Rproject.org). A P < 0.05 was considered as significant. Categorical variables were presented as numbers (%) and the difference between the training cohort, test cohort and validation cohort was examined using Pearson's Chisquared test. A Cox proportional hazard regression model was applied for the univariable analysis and multivariable analysis of prognostic factors. We adopted the 'survivalROC' package for time-dependent ROC analysis, and the 'bootstrap' method ('boot' package) was used to examine the significance of differences between the ROC curves [39]. The regression coefficients in multivariable Cox regression model were used to generate the nomogram. Calibration plot and ROC curve were used to evaluate the performance of nomogram ("rms" package). KEGG pathway enrichment analysis was performed by "clusterProfiler" package.

Abbreviations

AUC: area under receiver operating characteristic; CI: confidence interval; CRC: colorectal cancer; FFPE: formalin-fixed paraffin-embedded; OS: overall survival; ROC: receiver operating characteristic; RPM: reads per million total reads; TCGA: The Cancer Genome Atlas; TNM: tumor-node-metastasis.

AUTHOR CONTRIBUTIONS

Chuanxin Wang conceived and designed the experiments. Yongmei Yang, Ailin Qu, Xin Zhang and Qi Wu performed all the experiments. Yongmei Yang, Chen Li and Lili Wang analyzed the data. Yongmei Yang and Ailin Qu wrote the manuscript. Lutao Du and Zhaogang Dong provided the pathological samples. All authors read and approved the final manuscript.

CONFLICTS OF INTEREST

The authors declare no potential conflicts of interest.

FUNDING

This project was supported by grants from National Natural Science Foundation of China (Nos. 81601846, 81772271, 81301506, 81501819, and 81572070), Taishan Scholar Program of Shandong Province, Natural Science of Basic Scientific Research Foundation of Shandong University (2017BTS01, 2018JC002 and 2017JC031), Science Foundation of Oilu Hospital of Shandong University (2015QLMS51), Shandong Medical and Health Technology Development Project (2018WSB20002), Outstanding young scientist research award fund of Shandong Province (BS2014YY002), National Key Research and Development Program of China (2018YFC0114700) and the Key Research and Development Program of Shandong Province (2018YFJH0505) and Key Research and Development Project of Shandong Province (2016GSF201124).

REFERENCES

 Bray F, Ferlay J, Soerjomataram I, Siegel RL, Torre LA, Jemal A. Global cancer statistics 2018: GLOBOCAN estimates of incidence and mortality worldwide for 36 cancers in 185 countries. CA Cancer J Clin. 2018; 68:394–424.

https://doi.org/10.3322/caac.21492 PMID:30207593

- Nagtegaal ID, Quirke P, Schmoll HJ. Has the new TNM classification for colorectal cancer improved care? Nat Rev Clin Oncol. 2011; 9:119–23. <u>https://doi.org/10.1038/nrclinonc.2011.157</u> PMID:<u>22009076</u>
- Boland CR, Goel A. Prognostic Subgroups among Patients with Stage II Colon Cancer. N Engl J Med. 2016; 374:277–78. <u>https://doi.org/10.1056/NEJMe1514353</u> PMID:<u>26789877</u>
- 4. Zhang JX, Song W, Chen ZH, Wei JH, Liao YJ, Lei J, Hu M, Chen GZ, Liao B, Lu J, Zhao HW, Chen W, He YL, et

al. Prognostic and predictive value of a microRNA signature in stage II colon cancer: a microRNA expression analysis. Lancet Oncol. 2013; 14:1295–306.

https://doi.org/10.1016/S1470-2045(13)70491-1 PMID:24239208

- Semenza GL. Hypoxia-inducible factors: mediators of cancer progression and targets for cancer therapy. Trends Pharmacol Sci. 2012; 33:207–14. <u>https://doi.org/10.1016/j.tips.2012.01.005</u> PMID:<u>22398146</u>
- Wigerup C, Påhlman S, Bexell D. Therapeutic targeting of hypoxia and hypoxia-inducible factors in cancer. Pharmacol Ther. 2016; 164:152–69. <u>https://doi.org/10.1016/j.pharmthera.2016.04.009</u> PMID:<u>27139518</u>
- Wiggins JM, Opoku-Acheampong AB, Baumfalk DR, Siemann DW, Behnke BJ. Exercise and the Tumor Microenvironment: Potential Therapeutic Implications. Exerc Sport Sci Rev. 2018; 46:56–64. <u>https://doi.org/10.1249/JES.00000000000137</u> PMID:<u>29166299</u>
- Kulshreshtha R, Ferracin M, Wojcik SE, Garzon R, Alder H, Agosto-Perez FJ, Davuluri R, Liu CG, Croce CM, Negrini M, Calin GA, Ivan M. A microRNA signature of hypoxia. Mol Cell Biol. 2007; 27:1859–67. <u>https://doi.org/10.1128/MCB.01395-06</u> PMID:<u>17194750</u>
- Svetysheva ZA, Ioffe LT, Rekhtman AG. [Diagnostic and operative endoscopy in organic stenoses of the trachea and large bronchi]. Grudn Khir. 1987; 6: 47–52. PMID:3436557
- Hocman G. Gel filtration of thyroxine binding proteins of human serum. Endokrinologie. 1974; 63:107–11. PMID:<u>4215647</u>
- 11. Rupaimoole R, Calin GA, Lopez-Berestein G, Sood AK. miRNA Deregulation in Cancer Cells and the Tumor Microenvironment. Cancer Discov. 2016; 6:235–46. <u>https://doi.org/10.1158/2159-8290.CD-15-0893</u> PMID:<u>26865249</u>
- Li H, Rokavec M, Jiang L, Horst D, Hermeking H. Antagonistic Effects of p53 and HIF1A on microRNA-34a Regulation of PPP1R11 and STAT3 and Hypoxiainduced Epithelial to Mesenchymal Transition in Colorectal Cancer Cells. Gastroenterology. 2017; 153:505–20.

https://doi.org/10.1053/j.gastro.2017.04.017 PMID:28435028

13. Nijhuis A, Thompson H, Adam J, Parker A, Gammon L, Lewis A, Bundy JG, Soga T, Jalaly A, Propper D, Jeffery R, Suraweera N, McDonald S, et al. Remodelling of microRNAs in colorectal cancer by hypoxia alters metabolism profiles and 5-fluorouracil resistance. Hum Mol Genet. 2017; 26:1552–64. https://doi.org/10.1093/hmg/ddx059 PMID:28207045

- Olaru AV, Selaru FM, Mori Y, Vazquez C, David S, Paun B, Cheng Y, Jin Z, Yang J, Agarwal R, Abraham JM, Dassopoulos T, Harris M, et al. Dynamic changes in the expression of MicroRNA-31 during inflammatory bowel disease-associated neoplastic transformation. Inflamm Bowel Dis. 2011; 17:221–31. <u>https://doi.org/10.1002/ibd.21359</u> PMID:<u>20848542</u>
- Yamakuchi M, Lotterman CD, Bao C, Hruban RH, Karim B, Mendell JT, Huso D, Lowenstein CJ. P53induced microRNA-107 inhibits HIF-1 and tumor angiogenesis. Proc Natl Acad Sci USA. 2010; 107:6334–39. https://doi.org/10.1073/pnas.0911082107

https://doi.org/10.1073/pnas.0911082107 PMID:20308559

16. Jin F, Yang R, Wei Y, Wang D, Zhu Y, Wang X, Lu Y, Wang Y, Zen K, Li L. HIF-1alpha-induced miR-23a approximately 27a approximately 24 cluster promotes colorectal cancer progression via reprogramming metabolism. Cancer Lett. 2019; 440-441:211–22. https://doi.org/10.1016/j.canlet.2018.10.025

PMID:30393198

- Kim CW, Oh ET, Kim JM, Park JS, Lee DH, Lee JS, Kim KK, Park HJ. Hypoxia-induced microRNA-590-5p promotes colorectal cancer progression by modulating matrix metalloproteinase activity. Cancer Lett. 2018; 416:31–41. https://doi.org/10.1016/j.canlet.2017.12.018 PMID:29247825
- Qu A, Du L, Yang Y, Liu H, Li J, Wang L, Liu Y, Dong Z, Zhang X, Jiang X, Wang H, Li Z, Zheng G, Wang C. Hypoxia-inducible MiR-210 is an independent prognostic factor and contributes to metastasis in colorectal cancer. PLoS One. 2014; 9:e90952. <u>https://doi.org/10.1371/journal.pone.0090952</u> PMID:<u>24632577</u>
- Qu A, Yang Y, Zhang X, Wang W, Liu Y, Zheng G, Du L, Wang C. Development of a preoperative prediction nomogram for lymph node metastasis in colorectal cancer based on a novel serum miRNA signature and CT scans. EBioMedicine. 2018; 37:125–33. <u>https://doi.org/10.1016/j.ebiom.2018.09.052</u> PMID:30314890
- Yang Y, Qu A, Zhao R, Hua M, Zhang X, Dong Z, Zheng G, Pan H, Wang H, Yang X, Zhang Y. Genome-wide identification of a novel miRNA-based signature to predict recurrence in patients with gastric cancer.

Mol Oncol. 2018; 12:2072-84.

https://doi.org/10.1002/1878-0261.12385 PMID:<u>30242969</u>

- 21. Lai J, Wang H, Pan Z, Su F. A novel six-microRNAbased model to improve prognosis prediction of breast cancer. Aging (Albany NY). 2019; 11:649–62. <u>https://doi.org/10.18632/aging.101767</u> PMID:<u>30696800</u>
- 22. Moon EJ, Brizel DM, Chi JT, Dewhirst MW. The potential role of intrinsic hypoxia markers as prognostic variables in cancer. Antioxid Redox Signal. 2007; 9:1237–94. https://doi.org/10.1089/ars.2007.1623 PMID:<u>17571959</u>
- 23. Yoshimura H, Dhar DK, Kohno H, Kubota H, Fujii T, Ueda S, Kinugasa S, Tachibana M, Nagasue N. Prognostic impact of hypoxia-inducible factors 1alpha and 2alpha in colorectal cancer patients: correlation with tumor angiogenesis and cyclooxygenase-2 expression. Clin Cancer Res. 2004; 10:8554–60. <u>https://doi.org/10.1158/1078-0432.CCR-0946-03</u> PMID:<u>15623639</u>
- 24. Ghosh G, Subramanian IV, Adhikari N, Zhang X, Joshi HP, Basi D, Chandrashekhar YS, Hall JL, Roy S, Zeng Y, Ramakrishnan S. Hypoxia-induced microRNA-424 expression in human endothelial cells regulates HIF-α isoforms and promotes angiogenesis. J Clin Invest. 2010; 120:4141–54. https://doi.org/10.1172/JCI42980

PMID:20972335

- 25. Huang X, Ding L, Bennewith KL, Tong RT, Welford SM, Ang KK, Story M, Le QT, Giaccia AJ. Hypoxia-inducible mir-210 regulates normoxic gene expression involved in tumor initiation. Mol Cell. 2009; 35:856–67. <u>https://doi.org/10.1016/j.molcel.2009.09.006</u> PMID:<u>19782034</u>
- 26. Coronel-Hernández J, López-Urrutia E, Contreras-Romero C, Delgado-Waldo I, Figueroa-González G, Campos-Parra AD, Salgado-García R, Martínez-Gutierrez A, Rodríguez-Morales M, Jacobo-Herrera N, Terrazas LI, Silva-Carmona A, López-Camarillo C, Pérez-Plasencia C. Cell migration and proliferation are regulated by miR-26a in colorectal cancer via the PTEN-AKT axis. Cancer Cell Int. 2019; 19:80. <u>https://doi.org/10.1186/s12935-019-0802-5</u> PMID:<u>30983885</u>
- Ge X, Pan MH, Wang L, Li W, Jiang C, He J, Abouzid K, Liu LZ, Shi Z, Jiang BH. Hypoxia-mediated mitochondria apoptosis inhibition induces temozolomide treatment resistance through miR-26a/Bad/Bax axis. Cell Death Dis. 2018; 9:1128. <u>https://doi.org/10.1038/s41419-018-1176-7</u>

PMID:<u>30425242</u>

 Devlin C, Greco S, Martelli F, Ivan M. miR-210: more than a silent player in hypoxia. IUBMB Life. 2011; 63:94–100.
 https://doi.org/10.1002/jub.427.PMID:21260638

https://doi.org/10.1002/iub.427 PMID:21360638

- 29. Yang Y, Li F, Saha MN, Abdi J, Qiu L, Chang H. miR-137 and miR-197 Induce Apoptosis and Suppress Tumorigenicity by Targeting MCL-1 in Multiple Myeloma. Clin Cancer Res. 2015; 21:2399–411. <u>https://doi.org/10.1158/1078-0432.CCR-14-1437</u> PMID:<u>25724519</u>
- 30. Mavridis K, Gueugnon F, Petit-Courty A, Courty Y, Barascu A, Guyetant S, Scorilas A. The oncomiR miR-197 is a novel prognostic indicator for non-small cell lung cancer patients. Br J Cancer. 2015; 112:1527–35. <u>https://doi.org/10.1038/bjc.2015.119</u> PMID:25867273
- Chang Y, Yan W, He X, Zhang L, Li C, Huang H, Nace G, Geller DA, Lin J, Tsung A. miR-375 inhibits autophagy and reduces viability of hepatocellular carcinoma cells under hypoxic conditions. Gastroenterology. 2012; 143:177–87.e8. <u>https://doi.org/10.1053/j.gastro.2012.04.009</u> PMID:<u>22504094</u>
- Dekervel J, Hompes D, van Malenstein H, Popovic D, Sagaert X, De Moor B, Van Cutsem E, D'Hoore A, Verslype C, van Pelt J. Hypoxia-driven gene expression is an independent prognostic factor in stage II and III colon cancer patients. Clin Cancer Res. 2014; 20:2159–68. <u>https://doi.org/10.1158/1078-0432.CCR-13-2958</u> PMID:24486594
- 33. Hall JS, Taylor J, Valentine HR, Irlam JJ, Eustace A, Hoskin PJ, Miller CJ, West CM. Enhanced stability of microRNA expression facilitates classification of FFPE tumour samples exhibiting near total mRNA degradation. Br J Cancer. 2012; 107:684–94. <u>https://doi.org/10.1038/bjc.2012.294</u> PMID:22805332
- 34. Iasonos A, Schrag D, Raj GV, Panageas KS. How to build and interpret a nomogram for cancer prognosis. J Clin Oncol. 2008; 26:1364–70. <u>https://doi.org/10.1200/JCO.2007.12.9791</u>
 PMID:<u>18323559</u>
- 35. Balachandran VP, Gonen M, Smith JJ, DeMatteo RP. Nomograms in oncology: more than meets the eye. Lancet Oncol. 2015; 16:e173–80. <u>https://doi.org/10.1016/S1470-2045(14)71116-7</u> PMID:<u>25846097</u>
- Kawai K, Ishihara S, Yamaguchi H, Sunami E, Kitayama J, Miyata H, Watanabe T. Nomogram prediction of metachronous colorectal neoplasms in patients with

colorectal cancer. Ann Surg. 2015; 261:926–32. https://doi.org/10.1097/SLA.000000000000881 PMID:<u>25185472</u>

- 37. Huang YQ, Liang CH, He L, Tian J, Liang CS, Chen X, Ma ZL, Liu ZY. Development and Validation of a Radiomics Nomogram for Preoperative Prediction of Lymph Node Metastasis in Colorectal Cancer. J Clin Oncol. 2016; 34:2157–64. https://doi.org/10.1200/JCO.2015.65.9128 PMID:27138577
- 38. Tian X, Zhu X, Yan T, Yu C, Shen C, Hu Y, Hong J, Chen

H, Fang JY. Recurrence-associated gene signature optimizes recurrence-free survival prediction of colorectal cancer. Mol Oncol. 2017; 11:1544–60. https://doi.org/10.1002/1878-0261.12117 PMID:28796930

39. Xu KM. Using the Bootstrap Method for a Statistical Significance Test of Differences between Summary Histograms. Mon Weather Rev. 2005; 134:1442–53. <u>https://doi.org/10.1175/MWR3133.1</u>

SUPPLEMENTARY MATERIALS

Supplementary Figures



Supplementary Figure 1. The KEGG pathway analysis for the four miRNAs and the top 20 pathways involved.



Supplementary Figure 2. X-tile plots of the four-miRNA signature and the risk score in the training cohort.

Supplementary Tables

niRNA	Hypoxic	Normoxic	FoldChange	
sa-miR-210-5p	168.84	6.04	27.96	
sa-miR-10a-5p	11613980.05	791516.09	14.67	
sa-miR-652-5p	92.19	6.79	13.58	
sa-miR-210-3p	3511.05	316.69	11.09	
sa-miR-99b-5p	705702.39	65443.74	10.78	
sa-miR-192-5p	2463861.74	301687.42	8.17	
sa-miR-141-3p	307936.51	79991.06	3.85	
sa-miR-193b-3p	2890.80	818.13	3.53	
sa-miR-215-5p	1123.12	321.73	3.49	
sa-miR-941	30086.88	8867.20	3.39	
sa-miR-16-5p	344796.86	102582.72	3.36	
sa-miR-331-3p	346.68	107.35	3.23	
a-miR-550a-3p	525.36	168.81	3.11	
sa-miR-21-5p	697516.85	224707.76	3.10	
sa-miR-30d-5p	315001.34	103601.07	3.04	
sa-miR-183-5p	45895.05	15311.03	3.00	
sa-miR-30b-5p	11502.89	3885.23	2.96	
sa-miR-31-3p	620.51	209.97	2.96	
sa-miR-197-3p	1173.87	404.11	2.90	
sa-miR-30e-5p	94605.57	32778.45	2.89	
a-miR-26a-5p	433208.51	156066.86	2.78	
sa-miR-125a-5p	138827.40	51528.92	2.69	
sa-miR-18a-5p	1406.64	529.91	2.65	
a-miR-21-3p	45518.13	18019.37	2.53	
sa-miR-23a-3p	8189.98	3324.28	2.46	
sa-miR-151a-3p	167776.37	72283.07	2.32	
a-miR-200b-3p	199725.93	88461.86	2.26	
sa-miR-582-5p	423.02	193.33	2.19	
sa-miR-27a-3p	26596.73	12251.40	2.17	
sa-miR-27b-3p	124546.09	58784.65	2.12	
sa-miR-26b-5p	65556.75	31022.98	2.11	
sa-miR-1286	172.43	82.54	2.09	
sa-miR-181c-5p	3003.48	1448.35	2.07	
a-miR-182-5p	245423.77	118622.92	2.07	
sa-miR-200a-3p	115773.85	57347.64	2.02	
sa-miR-200c-3p	24688.31	12247.79	2.02	
sa-miR-22-3p	168881.58	94448.32	1.79	
sa-miR-301a-3p	12705.48	7131.96	1.78	
a-miR-20a-5p	5967.14	3422.89	1.74	
sa-let-7d-3p	792.26	464.23	1.71	
sa-miR-23b-3p	2316.65	1368.87	1.69	
sa-miR-574-3p	456.61	270.67	1.69	
sa-miR-151a-5p	85234.44	51454.79	1.66	
sa-let-7a-5p	83266.25	50540.95	1.65	
sa-miR-98-5p	9186.13	5778.80	1.59	
sa-miR-340-5p	4452.07	2851.35	1.56	
sa-miR-374a-3p	4720.77	3036.75	1.55	

Supplementary Table 1. Differentially expressed miRNAs in CRC cell line under hypoxia condition.

hsa-miR-148b-3p	4691.86	3022.09	1.55
hsa-miR-181a-5p	250152.58	162245.75	1.54
hsa-miR-3176	494.98	322.52	1.53
hsa-miR-375	31097.71	20541.12	1.51
hsa-miR-301b-3p	3619.22	2405.09	1.50

Supplementary Table 2. Univariable Cox proportional hazards regression analysis results in the training cohort.

miRNAs	HR	P-value
hsa-mir-26b	1.70	0.00
hsa-mir-197	1.57	0.01
hsa-mir-375	0.82	0.02
hsa-mir-98	1.39	0.06
hsa-mir-193b	1.25	0.07
hsa-mir-26a-2	1.35	0.09
hsa-mir-210	1.13	0.10
hsa-mir-26a-1	1.34	0.10

Supplementary Table 3. The results of step multivariable Cox regression analysis.

miRNA	Coefficients	HR	P-value
miR-197	0.43	1.54	0.02
miR-26a	0.47	1.60	0.01
miR-210	0.21	1.24	0.01
miR-375	-0.23	0.80	0.01